1. 6<V8x2 <10 o] JHE o, == x 9] & =57 F5fof=t.



oAA 71 &2 &

rr

S)
)

ol%

@ Vi1

5 3



a, b, ¢ #ol b2t Zo] Fojd o, ax b x ¢ 9] & HI=A 1§
A2

a — AlE 36
b3 9 GOl Al

c— /(=3)2 9] 29 AFZ

® -18 @ 18

® 18V3 ® 108

® -18V3



4. V891 -8la 7k AL W, A4 o 2 ghe] g Fotefet.

D L
=%









H7]
@ -V3>-12 © —2v2>-+v12

© VIl>2V3

ORQ) @ ® ®0,0 ®06 0006



8. V50 -x 7t AT HEE ofs AAr x T ARMA R 22 g2

@1 @ 5 @9 @ 14 ® 25



9. 7<V10x2<120]AHT

O +1 @ +2



10, \/(4-2v8) - \/(3V3-4) & qrets] spelet,

D
=%



@ 3 @ 7 ® 9

@1



o
ol

e

_g]

A% x

384 - 24x 7t A o,

12.

@ 9 ® 10 11 ® 12

@ 8



13. (-5)2 o) YA AFIEa, VB9 JA AFZIE b, AFL4Ec

S F o, a+b-c 9 T Fotoft

a'é*:a—l-b—c:



14. \/(3-2v2)" - \/(2V2-3)" & 0ee) sty

@ 6-4v2 @ -4v2 3 6
@ 0 ® —6+42



15. 9= F 7 2 +e?

D /(-7)2 @ —(-v3)? ® V20
@ 6 ® V45



